
Mny-opérations 3P 

4263 – 1795 = 

 

4206 + 99 = 

 

 
Choisis 2 fois 2nombres 

Et fais deux soustractions : 

 

582 --- 1209 --- 

  --- 652 --- 

45 ---- 20369 -- 

 

 
46821 + 608 + 10006 + 5 = 

 

 

8356 x 2 = 

 

3695 x 5 = 

 

4808 x 8 = 
 
 
 

Exercice : 3P 

 



Mny-opérations 4P 

4562 – 1897 = 

 

4206 – 928 = 

 

 
Choisis 2 fois 2nombres 

Et fais deux soustractions : 

 

582 --- 1209 ---- 

 

45 ---- 203690 -- 

 

 
59241 +529710 + 265 + 6 = 

 

 

8356 x 27 = 

 

 

3695 : 5 = 

 

4808 : 8 = 
 

Exercice : 4P 

 


